Algebra 
Unit 6
Linear Inequalities

Name: ____________________

Teacher: _______________

Period: ________
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Inequality Discovery

Examine each pair of numbers with each of the symbols.  If the statement is true, write the equation or inequality in the box.  If the statement is false, put an “X” in the box.

Discovery Grid

	
	.5 ? .2
	2 ? 5
	3 ? 1
	8 ? 8
	-1 ? –3
	-3 ? 2
	-5 ? –5

	x = y
	X
	
	
	
	
	
	

	x ≠ y
	.5 ≠ .2
	
	
	
	
	
	

	x > y
	
	
	
	
	
	
	

	x > y
	
	
	
	
	
	
	

	x < y
	
	
	
	
	
	
	

	x < y
	
	
	
	
	
	
	


a.
x = y means _____________ is _______________________________________ to ______________.

b.
x ≠ y means _____________ is _______________________________________ to ______________.

c.
x > y means _____________ is _______________________________________ to ______________.

d.
x > y means _____________ is _______________________________________ than ____________,


     or _____________is _______________________________________ to ______________.

e.
x < y means _____________ is _______________________________________ to ______________.

f.
x < y means _____________ is _______________________________________ than ____________,



     or _____________is _______________________________________ to ______________.

Label the positive and negative integers on the number line below.
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                                                                                      0

Determine whether the given number is a solution of the equation/inequality.  Write “yes” or “no” next to the number.  Look at the number line above if you need help.

1. x = 4
a. 3 _______

b. –4 _______

c. 4 _______

d. 0 _______

2. x = -1
a. –1 _______

b. 0 _______

c. 1 _______

d. 20 ______

Balance Puzzle #1

Determine the value of each shape if the total value of the balance 

The total weight is 20
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Balance Puzzle #2
Determine the value of each shape if the total value of the balance
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Use Inequalities to compare the following shapes






Writing Inequalities Introduction

I. Write the meaning of the following.

1. < 
2. > 
3. (
4. (
5. at least 
6. no less than
7. no fewer than 
8. no larger than
9. at most
10. no greater than 
11. no smaller 

II. Define a variable and write an inequality to model each situation.

1. A bus can seat 48 students or fewer.
2. There are over 20 species of crocodiles.
3. In many states you must be at least 16 years old to obtain a driver’s
license.
4. At least 200 students attended the dance Saturday night.
5. You may not use a light bulb of more than 60 watts in this
light fixture.
6. The Navy’s flying team, the Blue Angels, makes no fewer than 75 appearances each year.
Inequality Story

Directions: Read the story with your group and write at least 10 inequalities for situations described in the story.
Karen’s club took a field rip to Liberty Land. Upon arriving at the entrance, Karen’s

sponsors purchased tickets for the group. There were 63 students in the group. Each ticket cost $15.00. Upon entering the park, Karen immediately rushed to the water slide where she saw no fewer than 75 people standing in line. After getting her turn on the slide, she rushed to the Sea Dragon Ride. The ride could hold up to 50 people at a time. Karen’s wait was not long. Elevated to a height of more than 30 feet above the ground, Karen screamed, shouted, and laughed as the ride was swinging back and forward. Leaving the Sea Dragon, she went to the bumper car area. Each car seated just one person and no more than a total of thirteen people could drive at a time. The sign beside the ride noted that a person had to be at least 36 inches tall to drive a car. Karen spotted the carousel, but decided to get something to eat first. One booth sold sodas for 0.75, cotton candy for $2, popcorn for $1 a box, pickles for $1, hot dogs for $2 and nachos for $2.25.

At another booth funnel cakes cost $2.50. While hamburgers for $3, fries for $2, sodas for $1, chips for 0.75, and candy apples for $1.25 were sold at yet another booth. Karen bought a hamburger, fries, and a soda. She decided to come back later and buy 3 bags of cotton candy, 3 candy apples, and 3 funnel cakes. On the trip home, she would share with friends. After eating and resting for a little over half an hour, she ran over to the Zip-n-Pip. She became nauseous when the ride soared to heights more 25 feet above the ground, promising then never to ride that ride again. From there she went boating. Only one person could sit in a boat. There were only 6 boats available. Having only minutes to ride, Karen tried to do as many turns as she could as fast as she could. The ride lasted a little under 10 minutes. It was time to go the park was now closing. Karen hurriedly walked to the exit and found her party. All in all, it had been a very fun-filled day.

Introduction to Inequalities


Name __________________________






                                     Date ______________Period________

1.  Write “true” or “false” for each inequality.


a. 
 2 ( 4


b.  
(1 ( 0


c.  
8 ( 8


d. 
 (2 ( (3

e.  
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f.  
2.3 ( 2.03



g. 
6 ( 2 ( 12 ( 8

h.  
3 ( 9 ( 4 ( 9

j. 
 (( 4)2 ( ( 42
2.  Fill in each blank with the correct inequality symbol.


a. 
 4 ( 8


b. 
 (3 ( (2

c.  
5  ( (9


     4 + 3___8 + 3

      (3 ( 5___(2 ( 5
         
    5((2)___((9)((2)


d.
( 4 ( ( 7

e.
m ( 6


f.  
w ( (1


     5(( 4)___5((7)

      (2m___6((2)

     w ( 8___(1 ( 8 


g.
( 4 ( y


h.
a  (  3.4

i.  
z  ( 
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     5(( 4)___5(y)

      (2a___3.4((2)

     z ( 8 ___
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3.  
Given (2 (  x ( 10, state a value for x that makes the statement true and value for x that makes the statement false.

Graphing Inequalities Notes
An ________________________________ at x  indicates that the graph does not include the number x .

Graph x > a

Graph x < a

Graph x ≠  a

A ________________________________ at x  indicates that the graph does include the number x .

Graph x = a

Graph x ≥  a

Graph x ≤  a

Example 1:  Graph the solution set represented by each inequality.

a. x < 3
 

b. -3 > y

c. x > 5

d. -2 < x


e. 7 = b


f. n = 6

Example 2:  Write each inequality representing the graphs given below.


a.




                            -20                           -10         


b.


                                    Ο

                                                           3           4     

         c.                                  Ө

                                             -7                                0


d.



 
            -8                                -2

e.                                                            ●

                      17                                    21


f.                                     Ө

                                               -9

Graphing and Stating the Inequality Practice

Graph the following inequalities.

1. x > 3









2. -5 > j









3. p = -2






4. m > 6 



         

5. g ≠  -8


State the following inequality.

6. 









                                                                               1
                      5                         9

7.                                                                                     Ө

-2
0
2
 4


8. 














-10

-5

0                                           

9.       






● 



         





-2

3

8

13

10.                                                                                                   Ө





           

-20

-15

-10

-5


Graphing Inequalities




Name 





Graphing On a Number Line Activity


Date 



 Per 



1.  
a. 
If n ( 3, state five values for n that will make the statement true.


b.
How could the list change if n ( 3?


c.
Graph n ( 3 on the number line.


d.  
Graph n ( 3 on the number line.







e.
Do your graphs include all of the possible values of n?  If not, how could you change 
your graph to include all possible values of n?  

2.  Graph on the number line.
a.
  n = 4






b.
  z ( 6


c.
  x ( 5






d.
c ( 3.5   

e.
   k ( 
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f.
   a (  ( 4.5

g.
n ( 
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h.
b (  
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i.

[image: image11.wmf]3

n

¹








j.
 ( 4 ( n ( 2

k.
(2 ( n ( 3   





l.
 (1 ( n ( 5


3.  State the inequality pictured on each number line graph.



a.  





b.

c.





d.


e.





f.  


g.  





h.  

Graphing Inequalities



Name __________________________
Homework






Date ______________Period________

1.  Graph each inequality on the number line.


a. 
 x ( 3




b. 
 x ( (2





c. 
x ( 4.5




d.  
x ( (0.6


2.  Graph each inequality on the number line.


a.  
(2 (  x  ( 3



b.  
2.3  (  x ( 5



c.  
(1.5  (  x  ( 3



d.  
(0.5  (  x  ( 2


3.  State the inequality graphed on each number line.


a.  





b.



c.





d.


e.





f.  

4. Graph the following inequalities.

a.
30 = h









b. b > -11









c. k ≠ 23






d.  m < -7 



         

e. s > 0


5. State the following inequality.

a. 









                           

-26

-21

-16

-11

-6

b.
                                                                       Ө

1

8

15

22


c. 

                                                                                     ●









-13

-9

-5

-1 

d.  



            Ө






6

17

28

39

50

e.                                                                                                Ө





           



         -1
0
1
2
3
4
5
6
7

Solving Inequalities Notes

When solving an inequality__________________________________________

___________________________except_______________________________
_______________________________
Example 1:
Solve the following inequalities and graph your answer.

a.           y ( 21 ( 7




           b.           8p  ( 96





c.            (14c ( (70




d. 
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e.
    a  + 6 > 12




f. 
 –6y – 4 > -22

             3


g.          8n + 2 - 10n < 20



h.      5 – 4m + 8 + 2m > -17


i.
-2(-h + 5) < 30




j.
3(j – 6) + 2j < 8j + 12


Example 2:
Translate and solve the following linear inequality.    Three fourths of a number decreased by 25 is at least 8.  What is the number?

Example 3:
Check the work.  If there is a mistake circle the step in which it appears, if no mistake is found, simply write “correct”.

a.
16 – 10r > 0


b.
9(2r – 5) < 7r – 1 

     
      -10r < -16



18r – 45 < 7r – 1 

  

  r > 16/10 = 1.6


11r – 45 < -1 

 






        11r < 44









   r < 4

Chapter: Solving Linear Inequalities


                         Name:


Lesson: Solving Multi-Step Inequalities

Period:


1.  Solve 5m - 8 > 12.

[image: image13.emf]
2.  Solve 12 - 3a > 18.

[image: image14.emf]
 3.  Solve 5m - 4 < 2m + 11.

[image: image15.emf]
4.  Solve 2r - 18 ≤ 5r + 3.

[image: image16.emf]
5.  Solve 26p - 20 > 14p + 64.

[image: image17.emf]
6. 
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7. 
6p – 2 ≤ 4p + 12

[image: image20.emf]
8. 
3(x – 2) – 8x < 44

[image: image21.emf]
9. 
-5(k + 4) ≥ 3(k – 4)                        Graph: 
10.)    
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11.)     
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12.)     
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13.)     
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Solving Inequalities Practice

Solve each of the following inequalities & graph your answers.  Show all steps!!

1.
4k > -16





2.
h – 5 < 0


3.
2d + 3 > 4





4.
-3g – 3 > 9


5.
17 + 10v  < -8




6.
4 <    -2p 








    
           5


7.
Translate and solve the following linear inequality.  The product of twelve and a number plus 13 is at most sixty-one.  What is the number?


           8.
Check the work.  If there is a mistake circle the step in which it appears, if no mistake is found, simply write “correct”.

a.
-3c – 9 > 3(c + 4)



b.
-  m   < 10

                  -3c – 9 > 3c + 12                                                2



-6c – 9 > 12





   -1m < 20



      -6c > 21





      m < -20




c < -21/6 or –7/2

Solving Inequalities WS #1






     IA 109 2.7, 2.8 (6.1, 6.2)

For each of the following, solve and then graph.

1) 3x – 1 ≤ 8

2) 4x > 32

3) 5 – 2x > 15

4) 10 + x ≤ 7


      5)  
[image: image26.wmf]3
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x ≤ 4

      6)  
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1

x – 3 ≥ 1

7) 6 – x ≤ 10

8) 2(x + 6) ≤18

9) 3(5 – x) ≤ 0

10) 2x > -16

Solving Inequalities Homework

Solve each of the following inequalities & graph your answers.  Show all steps!!

1.
k + 4 < 5





2.
  h    > 1










 -4


3.
-5e + 6 > 26





4.
-2x < x – 9 


5.
-4r + 7  <  27





6.
  3a   <  21

    







    
  4


7.
-4n > 2(5 – 2n)




8.
6w – 5 > 2(4w – 1)


9.
2(13 – 4n) > 5(n + 4) + 6



10.
7g + 4 < 9g – 2 


11.
Translate and solve the following inequality.  Juan made a 90, 84, 78, and a 92 on his first four math tests respectively.   What must he make on his fifth test to average at least a 90.

12.
Check the work.  If there is a mistake circle the step in which it appears, if no mistake is found, simply 


write “correct”.

a.
2(a + 2) < -10



b.
15 < 3(f + 2)



  2a + 2 < -10




15 < 3f + 6



        2a < -12




  9 > 3f

   

          a < -6




  3 > f
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Class Notes:  Writing Inequalities from Word Problems
Example #1 – Charity Walk
pledge = a promise to give ____________________

You are participating in an AIDS Walk to raise money for AIDS research and prevention. You want to raise at least $500. You already have $175 by asking people to pledge $25 each. How many more $25 pledges do you need?

Step 1:  What is your unknown? ____________________________________________________________________
Step 2:  Choose a variable for the unknown: ________________________

Step 3: Use a verbal model to help you write the inequality. Then write your equation on the line provided.









Variable Box





__________________________________________________________________________
Step 4: Solve your inequality. Show your work and circle your answer.

Answer: _____________________________________________________________________________

Example #2 Subscription:  An amount of money paid in order to receive a _______________________ regularly.
You decide to get a job over winter break selling magazines.  You earn $2 for every magazine subscription you sell plus a salary of $10 each week.  How many subscriptions do you need to sell each week to earn at least $40 each week?
Step 1:  What is your unknown? ____________________________________________________________________
Step 2:  Choose a variable for the unknown: ________________________

Step 3: Use a verbal model to help you write the inequality. Then write your equation on the line provided.









Variable Box





___________________________________________________________________________
Step 6: Solve your inequality.

Answer: _________________________________________________________________

Example #3: The WDP basketball team is trying to break the school record for points scored in a season. Your team has already scored 736 points this season. The record is 1076 points. With 10 games left in the season, how many points per game does your team need to average to break the record? Use the verbal model below to write and solve an inequality to solve the problem. 

Step 1:  What is your unknown? ____________________________________________________________________

Step 2:  Choose a variable for the unknown: ________________________

Step 3: Use a verbal model to help you write the inequality. Then write your equation on the line provided.

 


       •



 >




________________________________________________________________________

Step 4:  Solve your inequality.
Answer: ______________________________________________________________________________
Example #4 Suppose the WDP soccer team’s season goal record is 124 goals and your team has already scored 52 goals. With 12 games remaining on the schedule, how many goals, on average, does your team need to score per game to break the record?

Step 1:  What is your unknown? ____________________________________________________________________

Step 2:  Choose a variable for the unknown: ________________________
Step 3:  Use a verbal model to help you write the inequality. Then write your equation on the line provided.









Variable Box





     ________________________________________________________________________
c.)  Solve the inequality.

Answer: _____________________________________________________________________________
Example #5 You have $8.00 to spend on school supplies.  You need a notebook that costs $5.05 and pens that cost $0.59 each. Write an inequality to show how many pens you can buy
Step 1:  What is your unknown?    ____________________________________________

Step 2:  Choose a variable for the unknown: ________________________
Step 3:  Use a verbal model to help you write the inequality. Then write your equation on the line provided.

     ________________________________________________________________________
c.)  Solve the inequality.
Example #6 Mr. Gibbons is having a mechanic fix his car.  The mechanic said that the job was going to cost at least $375 for parts and labor (the hours that the mechanic works).  If the cost of the parts was $150, and the mechanic charges $60 an hour, how many hours is the mechanic planning on working on the car?

Step 1:  What is your unknown _________________________________________________

Step 2:  Choose a variable for the unknown: ________________________
Step 3:  Use a verbal model to help you write the inequality. Then write your equation on the line provided.

     ________________________________________________________________________
c.)  Solve the inequality.

Answer: _____________________________________________________________________________
Example #7 You want to buy some new DVDs and spend less than $75. A store advertises a sale where all DVDs are $15. Write and solve an inequality to find the number of DVDs you can buy

Step 1:  What is your unknown?    ____________________________________________

Step 2:  Choose a variable for the unknown: ________________________
Step 3:  Use a verbal model to help you write the inequality. Then write your equation on the line provided.

     ________________________________________________________________________
c.)  Solve the inequality.

Answer: _____________________________________________________________________________

Solving Inequality Word Problems                                Name:__________________
	
Antara has $500 in a savings account at the beginning of the summer. She wants to have at least $200 in the account by the end of the summer. She withdraws $25 each week for food, clothes, and movie tickets.

Start with: _______

Operation: ______

Unknown:  ______                              

Inequality Sign: ______

End with: ______

Inequality:

Solve:


Graph:



	
Keisha charges a $1.75 flat rate to braid

hair in addition to $0.65 per braid.  Lanoria has no more than $10 to spend. How many braids can she get?

Start with: _______

Operation: ______

Unknown:  ______                          

Inequality Sign: ______

End with: ______

Inequality:

Solve:


Graph:

	Jessica wants to order some dvds from

Amazon. Each dvd costs $15.99 and

shipping for the entire order is $9.99.

Jessica can spend no more than $100.

Start with: _______

Operation: ______

Unknown:  ______                              

Inequality Sign: ______

End with: ______

Inequality:


Solve:


Graph:


	The bowling alley charges a flat rate of $50 for a birthday party plus $5.50 for each person. Destiny can’t spend more than $100. 

Start with: _______

Operation: ______

Unknown:  ______                              

Inequality Sign: ______

End with: ______

Inequality:


Solve:


Graph:



	Malia is a waitress at CiCi’s pizza. In one night she earned at least $75 while

working a six-hour shift. If Malia earned $31.50 in tips, find all possibilities for the amount she earned in wages per hour.

a. Write an inequality.

b. Solve it.

c. Graph it.

 


	Trae plans to buy a car two years from now. He currently has $400 saved up to buy the car. From all the cars that Trae is considering buying, how much money does he need to save per month over the next two years if the least expensive car he wants to buy is $4,000?

a. Write an inequality.

b. Solve it.

c. Graph it.




	You rent a car and are offered 2 payment options. You can pay $25 a day plus 15￠ a mile (option A) or you can pay $10 a day plus 40￠ a mile (option B). For what amount of daily miles will option A be the

cheaper plan?

a. Write an inequality.

b. Solve it.

c. Graph it.



	A math teacher charges parents $59 to tutor their child and $30 for each additional child. Kate does not want to spend more than $125 for tutoring. How many of Kate’s eight kids can be tutored?


a. Write an inequality.

b. Solve it.

c. Graph it.




Multi(Step Inequality Applications

Name___________________________

Activity






Date__________________ Period____
Translate and solve each inequality.

1.
The sum of a number and 81 is greater than the product of (3 and that number.



2.
One(fourth a number is less than five minus the number.


3.
Four more than the quotient of a number and 3 is at least that number.  
4.
A crate weighs 6 kg when empty.  A lemon weighs about 0.2 kg.  For economical shipping the crate with lemons must weigh at least 45 kg.  How many lemons should be put in the crate?
5.
Five times a number is less than three times the same number.  

6.
Suppose admission to a carnival is $4.00.  You allow $3.00 for lunch and $1.00 for a snack.  Each ride is $0.80.  You have $15 to spend.  How many rides can you go on?


7.
A card printer charges $5.00 to set up each job and an additional $4.00 per box of 100 cards printed.


a.  How much would it cost to print n boxes of cards?


b.  What is the greatest number of boxes you could have printed for under $100?

8.
The acute angle shown below has a measure greater than 0( and less than 90(.  What is 


the set of all possible values for r?


9.  Natasha wants to treat her friends to the movies.  She can spend at most $131.  The movie tickets cost $11 each and she also wants to spend $21 worth of popcorn and candy for her friends to share.  What are the possible numbers of friends she can invite (including herself)?

10.  A carpet cleaner charges $59 for the first room and $29 for each additional room. A customer does not want to spend more than $125 for having the carpets in his house cleaned.

11.  Alex sells ice cream cones at the county fair. He has to rent the equipment for $29 and spend $0.53 on ingredients for each cone. What are the possible numbers of ice cream cones that he must sell at $1.30 each in order to make a profit? Write an inequality that represents how many ice cream cones must be sold to make a profit.

Solving Inequalities Review
      
Name __________________________
Homework






Date ______________Period________

Write and solve an inequality for each situation.

1. Sumiko is allowed to watch no more than 10 hours of television each week.  She has watched 4 hours of television already.  How many more hours of television Sumiko can watch?

2. Jillene is playing in a basketball tournament and scored 24 points in her first game.  If she averages over 20 points for both games, she will receive a trophy.  How many points can Jillene score in the second game and receive a trophy?  

3. Karin has $3 to spend in the arcade.  The game she likes costs 50¢ per play.  What are the possible numbers of times that she can play?  

4. A satellite will be released into an orbit of more than 400 miles above the Earth.  The rocket carrying it is currently 255 miles above the Earth.  How much higher the rocket must climb before it releases the satellite?

5. Marcus has accepted a job selling cell phones.  He will be paid $1500 plus 15% of his sales each month.  He needs to earn at least $2430 to pay his bills.  For what amount of sales will Marcus be able to pay his bills?

6. Tyrone has $21 and wants to buy juice drinks for his soccer team.  There are 15 players on his team.  How much can each drink cost so that Tyrone can buy one drink for each person?  

7. A 15(foot(tall cedar tree is growing at a rate of 2 feet per year beneath power lines that are 58 feet above the ground.  The power company will have to prune or remove the tree before it reaches the lines.  How many years can the power company wait before taking action?

8. A swimming pool is 7 feet deep and is being filled at a rate of 2.5 feet per hour.  How long can the pool be left unattended without the water overflowing?  
9. Megan is making quilts that require 11 feet of cloth each.  She has 50 feet of cloth.  What are the possible numbers of quilts that she can make?
10. Binh brought $23 with her to the county fair.  She purchased a $5 T(shirt and now wants to buy some locally grown plants for $2.50 each.  What are the numbers of plants that she can purchase with her remaining money?
11. Wayne’s homework is to solve at least 20 questions from his textbook.  So far, he has competed 9 of them.  Write, solve, and graph an inequality to show how many more problems Wayne must complete.

12. Felix wants to get at least one hour of exercise each day.  Today, he has run 40 minutes.  Write, solve, and graph an inequality that shows how much longer Felix needs to exercise to reach his goal.

The high school has been raising money for charity and the class that raises the most will be awarded a part at the end of the year.  The table below shows how much money each class has raised so far.  Use this to answer questions 13-15.

13. The school has a goal of raising at least $3000.  Which inequality shows how much more money m they need to raise to reach their goal?

a.
m ( 215

b. m ( 215

c. m ( 215

d. m ( 278

	Class
	Amount Raised ($)

	Seniors
	870

	Juniors
	650

	Sophomores
	675

	First(Years
	590


14. The juniors would like to raise more money than the seniors.  The seniors have completed their fundraising for the year.  Which expression shows how much more money j the juniors must raise to overtake the seniors? 

a. j ( 220

b. j ( 220

c. j ( 220

d. j ( 220

15. A local business has agreed to donate no more than half as much as the senior class raises.  Which inequality shows how much money b the business will contribute?

a. 
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Benedict, Ricardo, and Charlie are considering opportunities for summer work.  The table below shows the jobs open to them and the pay for each.  Use this information to answer questions 16(18.  

16. Benedict has saved $91 from last year and would like to baby(sit to earn enough to buy a mountain bike.  A good quality bike costs at least $300.  What number of hours h can Benedict baby(sit to reach his goal?

a. h ( 14

b. h ( 23

c. h ( 38

d. h ( 71

	Job
	Pay

	Mowing Lawns
	$15 per lawn

	Baby-Sitting
	$5.50 per hour

	Tutoring
	$9 per session


17. Ricardo has agreed to tutor for the school.  He owes his older brother $59 and would like to end the summer with at least $400 in savings.  How many session s can Ricardo tutor to meet his goal?

f.
s ( 31


g.
s ( 38

h. s ( 51

j.
s ( 81

18. Charlie has agreed to mow his neighbor’s lawn each week and will also baby(sit some hours.  If he makes $100 or more each week, his parents will charge him rent.  How many hours h should Charlie agree to baby(sit each week to avoid paying rent?

a. h ( 15

b. h ( 15

c. h ( 21

d. h ( 21

Alyssa, Reggie, and Cassie are meeting some friends at the movies and have stopped at the refreshment stand.  The table below shows some of the items for sale and their prices.  Use this information to answer questions 19(21.

19. Alyssa has $7 and would like to buy fruit snacks for as many of her friends as possible.  Which inequality below can be solved to find the number of fruit snacks f she can buy?

a. 2f ( 7

b. 2f ( 7

c. 7f ( 2

d. 7f ( 2

	Menu Item
	Price ($)

	Popcorn
	3.50

	Drink
	3.00

	Hot Dog
	2.50

	Nachos
	2.50

	Fruit Snack
	2.00


20. Reggie brought $13 and is going to buy popcorn for the group.  Which answer below shows the possible numbers of popcorn p Reggie can buy for his friends?

f. 0, 1, or 2

g. 0, 1, 2, or 3

h. 0, 1, 2, 3, or 4

f. 0, 1, 2, 3, 4, or 5

21. The movie theater donates 12% of its sales to charity.  From Cassie’s purchases, the theater will donate at least $2.15.  Which inequality below shows the amount of money m that Cassie spent at the refreshment stand?

a. m ( 17.92

b. m ( 17.92

c. m ( 25.80

d. m ( 25.80
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Algebra I:  Solving Inequalities 1
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.
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Algebra I:  Solving Inequalities 2
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.

Inequality Puzzle

Directions:  The puzzle pieces below are not in the correct order.  Use scissors to cut out each square.  Solve the inequality on each side of the puzzle pieces.  Find the graph that matches the answer.  Match the sides of the inequality and its graph puzzle pieces together.  Once all puzzle pieces have been matched, you should have a 3x3 cube.  Glue the correctly matched puzzle pieces on a separate piece of paper.  (Hint:  The outside puzzle pieces will not have a matching piece.)  
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Inequality Puzzle – ANSWER KEY
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Answer Key - Completed Puzzle
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Total Weight is 40
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